
Lec 8
# Repanamaterivation by are leugth particte" doesn't watter

' by I unit of distance Care length)per wit of time
Def: Let itt be space enre for aftsb. Then we length function:

for +€ Ta, bi

- We want to try standardise parameter so that "speed of

Cousider Flt) = It3, It, I> for Oft 600
I this does not follow. The original curve might havebeen ¡(t) =4t, 243,18: in that case this makes sense

Then we solve
J=J (t) = Soot'

3=ICt) for t
Fou dis = 5073

§Is) moves at standard speed
#(t) = (+3, 24, 1>

# Principle unit normal
F'Ct)

Now

I vector



# Curvature

Take smooth curve #(t)

Def, curvalue K= dIl T(s)Ndo F

I magnitude of change in direction

where TCH) is principle tangent vector
per change in are length

This is kind of hard to calculate... weneed to fund fund silt) and s'lt) and Ted)....
Hmm there's a shortent in R

Theorem: if ilt) in I$, then
Theorem: Ilt), gets be space curves. then

# (7(8) = 79: 9 + 7. g and
11 T'(E) N

K(t) = IF'Ct) I1
Ir'(t)xr "Ct)ll » Now WITS IT'(E)N = Ir'(t)X rACE)!1/r'Ct) U

r'Ct)
Not most straight

and trees- de

» IT'(t) I

Recall TCt) = Ir'(t)ll

+'6) = de T'et) + die Tet)

Theorem: T.T'= 0
= T-Tel;

-(day' TXT'

= (da)'TINTASiNG
(ToT)'= l' » T'.T+ T. T'=0 » T.T'= D

* CURRENT

wid zero high

Proct

and
K(t) =

end
forward


